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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER -EXAMINATION – WINTER 2015 

 

Subject Code: 320008 Date: 05/01/2016 

Subject Name: Mechanical Drafting 

Time: 10:30 AM TO 1:30 PM Total Marks: 70 
 
Instructions: 

1. Attempt any five questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. Each question carry equal marks (14 marks) 
 

 

Q.1 (a) A regular Pentagonal pyramid having 30 mm sides of base and 60 mm height, 

is resting on the H.P.  on one of its edges of the base, so that its axis makes an 

angle of 300 with the H.P.  Draw the projections of that pyramid. 

07 

 (b) Fig-1 shows Pictorial view of an object. Draw it's following view. Assume Ist 

Angle Projection Method. (i) Front View looking in direction of arrow X, 

(ii)Top view and (iii) Left hand Side view 

07 

    
Q.2 (a) Fig-2 shows Pictorial view of an object. Draw it's following view. Assume Ist 

Angle Projection Method. (i)Sectional Front View-MN -looking in direction 

of arrow X ,(ii)Top view and (iii) Left hand Side view. 

07 

 (b) A cone 50 mm base diameter and 70 mm axis is standing on it’s base on HP. 

It cut by a section plane 450  inclined to HP and perpendicular to V.P. through 

base end of end generator. Draw F.V, sectional T.V. and true shape of section. 

07 

  OR  

 (b) A cylinder of 60 mm diameter and axis 80 mm long is standing on its base on 

the H.P. It is cut by a Section plane, which makes an angle of 450 to H.P. and 

passing through a point on its axis 25 mm below the top-base. Draw F.V. 

sectional top view and true shape of section. 

07 

    
Q.3 (a) Draw the development of lateral surfaces P for hexagonal prism in Fig. 3. 07 

 (b) A vertical cylinder of 50mm diameter and 80mm height is penetrated by a 

horizontal square prism of 25mm side and 70mm length. Their  axis are 

perpendicular and intersecting each other. The faces of prism are equally 

inclined to H.P. and V.P. Draw the projections showing line of intersection. 

07 

  OR  

Q.3 (a) Draw the development of lateral surfaces Q for cylinder shown in Fig. 4. 07 

 (b) A cylinder 50mm dia. and 70mm axis is completely penetrated by another 

cylinder of 40 mm dia. and 70 mm axis horizontally.  Both axes intersect & 

bisect each other  at right angle and parallel to VP. Draw projections 

showing curves of intersections.  

07 

    
Q.4 (a) Fig No. 5 shows the Assembly of Cotter Joint. Draw Detail drawings showing 

two views of each part. Give necessary dimensions. 
07 

 (b) List procedural steps of AutoCAD command (with its options) to draw Fig- 6 

in AutoCAD. 
07 

  OR  

Q. 4 (a) Figure 7 shows the details of “Knuckle Joint”. Assemble the parts and draw 

Front view and Top view of assembly 
07 

 (b) In a drawing fit is represented as 120 H6 e8. Draw the figure for fit and find 07 
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following. 

1) Max. and Min. Limit for hole. 

2) Max. and Min. Limit for shaft. 

3) Tolerance on hole and shaft. 

4) Type of fit. 

IS-919 state following limits for 120 mm diameter in microns. 

 H6  e8 

Upper +22 -78 

Lower +0 -126 
 

    
Q.5 (a) Illustrate the surface roughness symbol. 

1) A surface is to be Milled 

2) Roughness Value – 15 micron 

3) Sampling Length – 2.5 mm 

4) Direction of Lay – Parallel 

5) Machining Allowance – 2.0  mm 

07 

 (b) Give the welding symbols for the following: 

1) Square Butt 

2) Fillet 

3) Spot 

4) Seam 

5)Plug 

6)Single V butt 

7)Single bevel butt 

07 

  OR  

Q.5 (a) Explain following AutoCAD commands with it’s uses : 

(1)Ellipse, (2) Polygon, (3) 3 point Circle, 

(4) Mirror , (5) Offset , (6) Trim , (7)Hatch 

07 

 (b) Draw symbols  of the following  pipe fitting  

(1)Joint, (2) Reducer , (3) Gate valve , (4) Globe valve, 

(5) Stop cock, (6) Union , (7) Check valve 

07 

 

************ 

ગજુરાતી 
પ્રશ્ન. ૧ અ એક નિયનિત પચંકોણિય નપરાિીડ, જેિી તળીયાિી બાજુઓ 30 mm અિે ઉંચાઇ 

60 mm છે, તે H.P. પર તેિી એક તળીયા િી બાજુ પર એવી રીતે ઉભો છે કે 
જેથી નપરાિીડિી ધરી (અક્ષ) H.P. સાથે 300  ખિુો બિાવે છે. તો તે નપરાનિડ િા 
પ્રકે્ષપો દોરો. 

૦૭ 

 બ આકૃનત-૧ િા ંપદાથથિો ણચત્રિય દેખાવ દર્ાથવેલ છે.પ્રથિ કોિીય પ્રકે્ષપિ િી 
િદદ થી િીચેિા દેખાવો દોરો.(i) X – દદર્ાાઁિા ંજોતા સાિેિો દેખાવ           (ii) 
ઉપરિો દેખાવ (iii) ડાબી બાજુિો દેખાવ. 

૦૭ 

પ્રશ્ન. ૨ અ આકૃનત-૨ િા ંપદાથથિો ણચત્રિય દેખાવ દર્ાથવેલ છે.પ્રથિ કોિીય પ્રકે્ષપિ િી 
િદદ થી િીચેિા દેખાવો દોરો.  (i) X – દદર્ાાઁિા ંજોતા છેદાત્િક સાિેિો     દેખાવ 

MN (ii) ઉપરિો દેખાવ (iii) ડાબી બાજુિો દેખાવ. 

૦૭ 

 બ 50 mm પાયા િો વ્યાસ અિે 70 mm ધરી િી લબંાઇ વાળો કોિ તેિા પાયા 
ઉપર H.P. િા ંપડેલ છે. તેિ ેએક છેદક સપાટી  ઉભી સપાટી િે લબં છે અિે 
આડી સપાટી સાથ ે450 િો ખિુો બિાવી તેિા અંતીિ જિરેટર િા પાયા િા 

૦૭ 
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છેડા િા ંથી પસાર થાય છે. તો તેિો સાિે િો દેખાવ, છેદાત્િક ઉપર િો દેખાવ 
અિે છેદ િો ખરો આકાર દોરો. 

  અથવા  

 બ 60 mm વ્યાસ અિે 80 mm ધરી વાળા H.P.િા ંતેિા પાયા પર ઉભેલા િળાકાર 
િે આડી સપાટી સાથે 450 િો ખિુો બિાવી િથાળા થી 25 mm િીચેિા ધરી પર 
િા ણબન્દુ િાથંી પસાર થતી સપાટી કાપે છે.તેિો સાિેિો દેખાવ,ઉપરિો છેદ વાળો 
દેખાવ અિે છેદ િો ખરો આકાર દોરો. 

૦૭ 

પ્રશ્ન. ૩ અ આક્રુનત-૩િા ંદર્ાથવેલ કપાયેલ ષટકોણિય નપ્રઝિિા પાટથ  P િો નવસ્તાર દોરો. ૦૭ 

 બ 50 mm વ્યાસ અિે  80mm ઉંચાઇ ધરાવતા એક ઉભા િળાકાર િે 25 mm પાયા 
િી બાજુ વાળો અિે 70 mm  ઉંચાઇ ધરાવતો આડો નપ્રઝિ એવી રીતે છેદે છે કે 
બને્ન િી ધરી એકબીજા િે કાટ્ખિેુ રહ.ેનપ્રઝિ િી સપાટી H.P . અિે V.P. િે એક 
સરખી ઢ્ળતી છે. તેિા દેખાવો દોરો અિે છેદ રેખાઓ દર્ાથવો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ આક્રુનત-4િા ંદર્ાથવેલ કપાયેલ િળાકાર િા પાટથ Q િો નવસ્તાર દોરો. ૦૭ 

 બ 50 mm પાયા િો વ્યાસ અિે 70 mm ધરી િી લબંાઇ વાળો િળાકાર બીજા 40 
mm પાયા િો વ્યાસ અિે 70 mm ધરી િી લબંાઇ વાળો આડા િળાકાર વડે 
છેદાઇ છે. જેથી બને્નિા અક્ષો એક બીજાિે કાટખિેુ દુભાગ ેછે પ્રતીછેદ િી રેખા 
ઓ દર્ાથવતા પ્રકે્ષપો દોરો. 

૦૭ 

પ્રશ્ન. ૪ અ આકૃનત -5 િા ંકોટર સાધંાિી એસેમ્બલી દર્ાથવેલ છે. દરેક ભાગિા ંબે દેખાવો 
દર્ાથવતા ંદડટૈલ ડ્રોઇંગ દોરો. તિારા દેખાવ િે જરૂરી િાપ આપો. 

૦૭ 

 બ ઓટોકેડ િા ંઆકૃનત 6 દોરવા િાટેિી ઓટોકેડિા કિાડં(તેિા ંઓપ્ર્િ સાથે) િી 
પ્રોસીઝરિા પગથીંયા લખો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ આકૃનત 7 િા ંિકલ જોઇંટિા છુટા ભાગો દર્ાથવેલ છે, તેિે યોગ્ય રીતે જોડી , 
એસેમ્બલીિા સાિેિો દેખાવ અિે ઉપરિા દેખાવ દોરો. 

૦૭ 

 બ ડ્રોઇંગિા ંફીટિે 120 H6 e8  વડે દર્ાથવવાિા ંઆવેલ છે. ફીટિી આકૃનત દોરો અિે 
િીચે પ્રિાિે ર્ોધો 
1) હોલિી વધારેિા ંવધારે તથા ઓછાિા ંઓછી લીિીટ  
2) ર્ાફ્ટિી વધિુા ંવધ ુતથા ઓછાિા ંઓછી લીિીટ. 

3) હોલ તથા ર્ાફ્ટ િાટેિો ટોલરંસ. 

4) ફીટિો પ્રકાર. 
IS-919 િાથંી નવગતો 120mm વ્યાસ િાટે નવચલિ િાઇક્રોિિા ંિીચેદર્ાથવેલ છે: 
 H6  e8 

અપર +22 -78 

૦૭ 
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લોઅર +0 -126 
 

    
પ્રશ્ન. ૫ અ િીચે આપેલ નવગત સરફેર્ રફિેર્િી સજં્ઞા દોરી તેિા પર દર્ાથવો.. 

1) સરફેસ બિાવવાિી પ્રદક્રયા : નિણલિંગ 

2) સરફેસ રફિેર્ ણલનિટ : 15 િાઇક્રોિ 

3) સેમ્પણલિંગ લમ્બાઇ : 2.5 િી.િી. 
4) િર્ીિીંગ એલાઉંસ : 2.0 િી.િી.                5) લે િી દદર્ા : સિાતંર 

૦૭ 

 બ િીચેિી વેલ્ડિંગ સજં્ઞા દોરો:  
1) સ્્વેર બટ 

2) ફીલેટ 

3) સ્પોટ 

4) સીિ 

5) પ્લગ 

6)નસિંગલ વી બટ     7)નસિંગલ બેવેલ બટ 

૦૭ 

  OR  

પ્રશ્ન. ૫ અ િીચે દર્ાથવેલ ઓટોકેડ કિાડં તેિા ઉપયોગ સાથે સિજાવો.: 
(1)ઇલીપ્સ, (2)પોણલગોિ, (3) 3 પોઇંટ સકથલ, 

(4) િીરર , (5) ઓફસેટ , (6) ટ્રીિ , (7) હચે 

૦૭ 

 બ િીચેિી પાઇપ ફીદટિંગ િાટેિી સજં્ઞા ણચન્હ દોરો. 
(1)જોઇંટ , (2) રીડયસુર , (3) ગેટ વા્વ , (4) ગ્લોબ વા્વ, 

(5) સ્ટોપ કોક, (6) યનુિયિ , (7) ચેક વા્વ 

૦૭ 
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